Topic 2 Problem Set

1.   Boron consists of two isotopes, boron-10 with a fractional abundance of  0.199 and boron-11

      with a fractional abundance of 0.801.  Calculate the average atomic mass of boron.

2.   Neon consists of three isotopes, neon-20 with a fractional abundance of 0.9048, neon-21 

      with a fractional abundance of 0.0027, and neon-22 with a fractional abundance of  0.0925. 

      Calculate the average atomic mass of neon.

3.   Magnesium consists of three isotopes, magnesium-24 with a percent abundance of 78.99 %, 

      magnesium-25 with a percent abundance of 10.00 %, and magnesium-26 with a percent 

      abundance of  11.01 %.  Calculate the average atomic mass of magnesium.

4.   Silicon consists of three isotopes, silicon-28 with a percent abundance of 92.2297%, 

      silicon-29 with a percent abundance of 4.6832 %, and silicon-30 with a percent 

      abundance of  3.0872 %.  Calculate the average atomic mass of silicon.

5.   What is the name for FeS ?

6.   What is the name for SnO2 ?

7.   Write the formula for lead (II) arsenide.

8.   Write the formula for strontium phosphide.

9.   What is the name for CaCr2O7 ?

10. What is the name for CoSiO3 ?
11. Write the formula for iron (III) perchlorate.

12. Write the formula for strontium phosphate.
13. What is the name for N2O3 ?
14. What is the name for SO3 ?

15. Write the formula for diphosphorus tetraiodide.
16. Write the formula for iodine heptafluoride.

17. What is the name for HNO2 ?
18. What is the name for HBr (aq) ?

19. Write the formula for oxalic acid.

20. Write the formula for sulfurous acid.

21. What is the name for CuSO4 • 5 H2O ?
22. What is the name for CoCl2 • 6 H2O?

23. Write the formula for nickel (II) chloride tetrahydrate.

24. Write the formula for sodium sulfate decahydrate.

25. Write the full chemical equation (including symbols for state) for the following reaction:


Solid potassium oxide is reacted with liquid water to form an aqueous solution of 

potassium hydroxide.

26. Write the full chemical equation (including symbols for state) for the following reaction:

Chlorine gas is reacted with aqueous sodium hydroxide to form an aqueous solution of sodium hypochlorite and an aqueous solution of sodium chloride.

27. Balance the following equation: C3H8 + O2 ( CO2 + H2O.

28. Balance the following equation: Ca + AlCl3 ( CaCl2 + Al.

